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Operations with Number64
TOPIC

5
SERIES

B

Division – sharing (partition)

1� �/RRN�DW�WKHVH�VKDUHV��$UH�WKH\�IDLU"���WKH�IDLU�VKDUHV�
��WKH�RQHV�WKDW�DUH�QRW�IDLU�

2� �'UDZ�VRPH�ÁRZHUV�LQ�WKH�
pots so that all the pots are 
equal. This means they have 
WKH�VDPH�QXPEHU�RI�ÁRZHUV�

:KHQ�ZH�VKDUH�WKLQJV�LQWR�JURXSV�HYHQO\��HYHU\�JURXS�KDV�
the same number. This means they are equal.
 Here are 6 cupcakes. Here are 3 children.

,I�ZH�VKDUH�WKH�FDNHV� 
RXW�HYHQO\��HYHU\�FKLOG� 
JHWV���FXSFDNHV��<XP�
We call these fair shares because they are equal.
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